
Pátá série úloh z předmětu AN1E

1. Řešte rovnice

(a)
log2(x+ 7)− log2 x = 3

(b)

log2
3− x

x+ 3
= −2

(c)
log3(6x− 1)
log3(x− 3)

= 2

(d)
4 log9 x(log9 x− 1) = 2 + 3 log9 x

(e)
log x

log(x− 2)
=
log 9
log 3

2. Vypočtěte limity

(a)
lim

x→π
2
+
tgx, lim

x→π
2
−
tgx, lim

x→π
2

tgx.

(b)
lim

x→π
2
+
(tgx+

√
x), lim

x→π
2
−
(tgx+

√
x), lim

x→π
2

(tgx+
√

x).

(c)
lim

x→π
2
+
2tgx, lim

x→π
2
−
2tgx, lim

x→π
2

2tgx.

(d)

lim
x→π
2
+
(2tgx − 3 log x), lim

x→π
2
−
(2tgx − 3 log x), lim

x→π
2

(2tgx − 3 log x).

(e)

lim
x→2+

cosx− x

2x2 − x− 6
, lim

x→2−

cosx− x

2x2 − x− 6
, lim

x→2

cosx− x

2x2 − x− 6



(f)

lim
x→1+

1
log |x− 1|

, lim
x→1−

1
log |x− 1|

, lim
x→1

1
log |x− 1|

.

(g)
lim

x→0+
cos(sgnx), lim

x→0−
cos(sgnx), lim

x→0
cos(sgnx).


